Math 104    
Practice Test 3 (Chapters 6 & 7 & 11.3)
Name_________________________

Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.

1.
Let 
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.
(6 points)


a.
Give the coordinates for the vertex.  _____________


b.
Sketch the graph of the function.


2.
Give an example of a quadratic function that has vertex (2, 5) and has no x-intercepts.
(2 points)
3.
Let 
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a.
Find the y-intercept for the graph of the function.  __________
(2 points)


b.
Find the x-intercepts for the graph of the function.  ___________
(4 points)


c.
Find the coordinates for the vertex using either the y-intercept or the x-intercepts.  
(4 points)

4.
Expand the following.
(6 points)


a.
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b.
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5.
Completely factor each polynomial.


(4 points each)


a.
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b.
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c.
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d.
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6.
Find the solution set for each equation.
(4 points each)


a.
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_________________________



solution set


b.
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solution set

7.
Perform the indicated operations.  If the answer is a complex number, write it in the 
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 form.


a.
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(2 points)


b.
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(2 points)


c.
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(2 points)


d.
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(2 points)
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8.
Find the solution set for the quadratic equation 
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 using three different methods:


a.
by factoring.
(6 points)




_________________________



solution set


b.
by completing the square or using the vertex form. 
(6 points)




_________________________



solution set


c.
using the quadratic formula. 
(6 points)




_________________________



solution set
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9.
Find the quadratic function 
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 that includes the points (1, 1), (2, 1) and (3, 5). 


(10 points)
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10.
In the equation 
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 represents the adjusted price (in 2002 dollars) of a gallon of gasoline t years since 1980.

a.
Use f  to predict the cost of a gallon of gasoline in 2008.  Do you think the model is accurate?
(4 points)


b.
Use f  to predict when the cost of a gallon of gasoline will be $3.00.
(6 points)

c.
Estimate the minimum adjusted price of gasoline.  Estimate the year when this adjusted price occurred.
(6 points)
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